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MATH 1A Worksheet(Jan 29th)

. Complete the following table

| T 1 2 3 4 5
 f(z) 3 1 4 2 g
_9(x) 1 3 5 3 2
foglx) |3 4 8 4 1
. Suppose a function f has the followng graph, identify the domains of these variations of
f(from (a) to (e)) and draw their graphs with some characteristic data. j/\ ;
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(a) y = f(2) +3; (b) y = 4f(2); (c) y = f(32); (d) y = f(z — 4); (&) y = f(lz])-

. Given the following pairs of functions f, g, identify their composite function f o g and an
apppropriate domain.

(a) f(z)=z+1,9(z) =2 -1, P( CK\]:Y, iR

(b) f(z) = VT, g(z) =2 Eloix)"= IX) IR

(¢) f(z) = 2% g(z) = VT; ¢ (x\\fﬂ (0,2)

(d) f(z) = ;,9(z) = tanz. glj,x\\ 2 Cot(®), M\ % Ut | KE %f
. Given f(z) = z2

(a) Does there exist function g such that go f (z) = z? If so, give an example; if not,

[w»)
—
-

explain why. /UO ~ [’IQ = f-(")é), ) (f/Xﬂ :j[f[ﬂ(\\ Canloe anvy ome 2F X ~x
(b) Does there exist function g such that f o g(z) = jg(over the domain of ¢)7 If so, give Cor X #0
an example; if not, explain why. %05 RARNAS

(c) Answer these two questions when the domain of f becomes [0, +00) = {z: z > 0}. 5(@3, Z 5.

. A spherical balloon is being inflated and the radius of the balloon is increasing at a rate
of 3cm/s while the initial radius( that is, at t = 0) of this ballon is 2cmn.

(a) Express the radius r as a function of time ¢. s U )3
T (2%

(b) If V(r) = £r% is the volume of a sphere of radius r, then find V or and inteprete it.qg .
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. Given two functions f, g & e
(a) If g is even, can one tell the parity of fogorgo f? Explain why or why not. Mo Eéﬁ.f/v’{
(b) If g is odd, can one tell the parity of f o g or go f? Explain why or why not. /1, } SWitd an X,
(c) In addition to assumption in (b), what if f is even or odd? Answer the same question.

Qo o OAA = ocd

Q&W 0 Lt =tVeéwn

Even o (pld = v !
Eveno EVen = Even
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